LESSON 9

Question 1. The reason for the appearance of combinatorial syndrome is due to:

A. Link genes.

B. Chromosomal mutation.

C. The independent decomposition of chromosomes in mitosis and conjugation in fertilization

D. Mutation gene.

Question 2. In people with genes A curly hair rule, genes A direct hair regulation, B genes regulate black eye, genes b regulate blue eyes. These genes are independent of each other. Father straight hair, blue eyes. Choose the mother genes suitable in the following cases to give birth to sure black eyes, curly hair:

A.  AaBb.

B. AaBB.

C. AABb.

D. AABB.

Question 3. Carrying cells containing two pairs of matching genes (two genes on one chromosome) can produce up to several types of gametes when genetic linkage occurs:

A. 1.

B. 2.

C.3.
 D. 4

Question 4. Protein monomers are:

A. Ribonucleotide.

B. Nucleotide.

C. Acidnucleic.

 D. Acidamin.

Question 5. DNA is synthesized according to the principle:

A. Mold.                               B. Additional Principles.

C. Preservation.                   D. reverse transcription.

Question 6. What is the mutation?

A. Genetics for later generations.   B. No inheritance for the next generation.    C. Invisible.          D. Bulk.

Question 7. The living environment of an organism includes:

A. Accommodation, sleeping area of ​​the creature.

B. Water source.

C. Food sources and other organisms.

D. All that surrounds the creature.

Question 8. Main habitat of the organism:

A. Water.

B. In the land.

C. On the ground

D. creatures

Question 9. Biological population is a collection of living organisms ... living together:

A. Have the same source.

B. same species

C. Other species.

D. same breed

Question 10. Biological communities are groups of living organisms belonging to:

A. a species of creature

B. Many species.

C. Same species.

D. multiple locations.

Question 11. Why are cells in the epidermis and skeletal muscle cells different in structure and function but they have the same genotype? 
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Answer 11

The human body is born from an egg combined with a zygote to form zygotes .
- Multiple constituent complexes to form embryonic (outer leaves, mid-leaves, inner leaves) This is also the process of differentiation of cells.

- The developmental embryo is divided into: skin, nervous system, blood vessels. Embryos between the formation of bones and muscles. Embryos in the formation of organs.

 Thus, the epidermis and skeletal muscle cells have different structures and functions but all share the same genome. 
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